Question No : 1 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

Mr. A sold goods for Rs.4,000 and recorded it in the books of accounts because it is due to the occurrence of

Answer ( Please select your correct option )

Conditions
C
An adjustment
[ ®]
Business transaction
-~
All of the given options
s -
YWade By: Wagar Siddhu
Question No : 2 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

On 31% December, 2007 the Amjad Traders has the debtors of Rs. 7,000. He creates a provision on debtors @ 5% for the year 2007. The value of provision for debtors is:

Answer ( Please select your correct option )

Rs.350
C
Rs.700
[ @]
Rs.7,000
~
Cannot be determined from the given information
o -
Wade By: Wagar Siddhu
Question No : 3 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

TWhich of the following is reported on credit side of Debtors Account?

Answer ( Please select your correct option )

Discount received
o

Discount allowed

Purchases return

Opening balance of Debtors

Wade By: Wagear Siddhu




Question No : 4 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following is NOT a current liability?

Answer ( Please select your correct option )

Bills payable
C
Rent owing
[ ®]
Bonds payable
-~
Accounts payables
s -
YWade By: Wagar Siddhu
Question No : 5 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

A “Receipts and Payments Account” is a summary of

Answer ( Please select your correct option )

Cash book
C
Trial balance
[ @]
Balance sheet
-~
Profit and loss account
o -
Wade By: Wagar Siddhu
Question No : 6 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

TWhich of the following is revealed from the “Income and Exzpenditure Account”?

Answer ( Please select your correct option )

Balance of cash in hand
o

Balance of cash at bank

Surplus or Deficiency

Net profit

Yheade By: Wagar Siddhu




Question No : 7 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

In Non-profit organization, the credit balance of "Income and Expenditure Account” at the end shows:

Answer ( Please select your correct option )

Surplus balance
C
Deficit balance
[ ®]
Net profit
-~
Netloss
s -
YWade By: Wagar Siddhu
Question No : 8 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

In Non-trading concern, Loss on sale of fixed asset in a year is treated as an item of

Answer ( Please select your correct option )

Receipts and Payments Account
C
Income and Expenditure Account
[ @]
Capital Fund Account
-~
Balance Sheet
o -
Wade By: Wagar Siddhu
Question No : 9 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

TWhich one of the following expense can NOT be allocated and apportioned by each department separately?

Answer ( Please select your correct option )

Wages and salaries
o

Group insurance premium

Auditor’s fee

Discount allowed

Yheade By: Wagar Siddhu




Question No : 10 of 27

Marks: 1 (Budgeted Time 1 Min) (=)

In the books of head office, the closing balance of branch creditors appear in the:

Answer ( Please select your correct option )

- Debit side of the head office account
- Credit side of the head office account
5 Debit side of the branch account
Credit side of the branch account
i Made By: Wagar Siddhu

Question No : 11 of 27

Marks: 1 (Budgeted Time 1 Min) (=)

In the books of head office, the opening accrued expenses of the branch appear in the:

Answer ( Please select your correct option )

Debit side of the expense account
C

Debit side of the branch account

Credit side of the branch account

Credit side of the head office account

Weade By: Wagar Siddhu

Question No : 12 of 27

Marks: 1 (Budgeted Time 1 Min) (=)

In the books of head office, which of the following entry will be recorded for the cash received from branch under debtor system? -

Answer ( Please select your correct option )

Head office a/c debit and Cash a/c credit
o

Cash afc debit and Head office a/c credit

Branch a/c debit and Cash afc credit

Cash afc debit and Branch afc credit

Yheade By: Wagar Siddhu




Question No : 13 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

In the books of head office, which of the following entry will be recorded for bad debts under stock and debtor system?

Answer ( Please select your correct option )

Branch expense a'c debit and Head office afc credit
C
Head office a/c debit and Branch expense afc credit
[ ®]
Branch expense a'c debit and Branch debtors afc credit
-~
Branch afc debit and Branch expense afc credit
8] -
YWade By: Wagar Siddhu
Question No : 14 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

TWhich of the following account will be credited for transferring the effect of loading on the branch closing stock under stock and debtor system?

Answer ( Please select your correct option )

Branch Adjustment account
C
Stock Reserve account
[ @]
Purchases account
-~
Branch Stock account
o -
Wade By: Wagar Siddhu
Question No : 15 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

TWhich of the following represents the relationship between persons who have agreed to share the profit of business carried on by all or any of them acting for all?

Answer ( Please select your correct option )

Sole-ownership
o

Partnership

Private limited company

Public limited company

Yheade By: Wagar Siddhu




Question No : 16 of 27

Marks: 1 (Budgeted Time 1 Min) (=)

TWhich of the following account will be debited for salary payable to partners against the distribution of profit?

Answer ( Please select your correct option )

Profit and loss account
C

Partner’s capital accounts

Profit and loss appropriation account

Cash account

Weade By: Wagar Siddhu

Question No : 17 of 27

Marks: 1 (Budgeted Time 1 Min) (=)

TWhich of the following is TRUE if the goodwill a/c is raised in the books of the firm?

Answer ( Please select your correct option )

Goodwill afc is raised in the books of firm at Average value
C

Value of goodwill is credited to the old partner’s capital a/c with old profit sharing ratio

Value of goodwill is debited to the old partner’s capital a'c with old profit sharing ratio

Value of goodwill is credited to the all partner’s capital a/c with new profit sharing ratio

Weade By: Wagar Siddhu

Question No : 18 of 27

Marks: 1 (Budgeted Time 1 Min) (=)

TWhich of the following are the owners of partnership business?

Answer ( Please select your correct option )

Shareholders
o

Partners

Proprietors

Managers

Yheade By: Wagar Siddhu




Question No : 19 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

TWhich of the following appears in the credit side of Trial Balance of a company account?

Answer ( Please select your correct option )

Expenses
C
None of the given options
[ ®]
Assets
-~
Liabilities
8] -
YWade By: Wagar Siddhu
Question No : 20 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

TWhich one of the following area of accounting is concerned with reporting financial information to interested parties/organizations?

Answer ( Please select your correct option )

Management accounting
C
Tax accounting
[ @]
Financial accounting
-~
Cost accounting
o -
Wade By: Wagar Siddhu
Question No : 21 of 27 Marks: 1 (Budgeted Time 1 Min) (=)

TWhich one of the following is TRUE about the accounting entries for incorporation of branch?

Answer ( Please select your correct option )

These are passed in the books of branch
o

These are passed in the books of head office

These are passed in the books of branch and head office

These are adjusted automatically

Yheade By: Wagar Siddhu




Question No : 22 of 27

Marks: 1 (Budgeted Time 1 Min) (=]

In the absence of agreement, partners shall:

Answer ( Please select your correct option )

Be paid salaries
C

Not be paid salaries

Be paid salaries to those who works for the firm

Be paid salaries to the half of the partners of the firm

Weade By: Wagar Siddhu

Question No : 23 of 27

Marks: 3 (Budgeted Time 6 Min) (=)

Calculate the Gross profit from the information given below for Department "N" and Department "M" of a super store
Department "N" Department "M"

Sales Rs. 10,000 Rs. 20,000
Gross profit 1 3 2

-

Answer ( Please click here to Add Answer )
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Question No : 23 of 27

Marks: 3 (Budgeted Time 6 Min) (=]

Department "N" Department "I"

Sales Rs. 10,000 Rs. 20,000
Gross profit 1 s 2

Total Gross Profit by two departments = Rs. 30,000

-

Answer ( Please click here to Add Answer )
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Question No : 24 of 27 Marks: 3 (Budgeted Time 6 Min)  [=]]

A firm whose accounting year ends on 31% December has two branches — one at Lahore and other at Islamabad. The branches keep a complete set of books. You are required to pass the general
entries to record the following transactions in the books of head office.

0. For the year 1993 the Lahore branch showed a net loss of Rs. 1,250.
1. Islamabad branch showed a Net profit of Rs. 5,400.

Answer ( Please click here to Add Answer )
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